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m m
m m
100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? m kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 120.43 1.00 100.00 1.00 - - 1041 1.95
2 3 136.37 1.00 100.00 1.00 - - 12,50 2.34
3 4 127.10 1.00 100.00 1.00 - - 12.32 2.30
4 5 123.85 1.00 100.00 1.00 - - 14.32 2.68
5 6 153.59 1.00 100.00 1.00 - - 16.05 3.00
6 7 168.13 1.00 100.00 1.00 17.04 3.18 16.05 3.00
7 8 17141 1.00 100.00 1.00 17.19 321 16.05 3.00
8 9 171.80 1.00 100.00 1.00 17.64 3.30 16.05 3.00
9 10 169.55 1.00 100.00 1.00 16.68 312 16.05 3.00
10 11 116.44 1.00 100.00 1.00 - - 16.05 3.00
11 12 117.75 1.00 100.00 1.00 - - 11.13 2.08
12 13 - - 100.00 1.00 - - 931 174
13 14 - - 95.54 1.00 - - 9.31 174
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100kN/m? 100kN/m?
kN/m? m kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
2 144.04 1.00 100.00 1.00 - 11.70 2.19
3 154.33 1.00 100.00 1.00 - 14.90 2.78
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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
2 - 62.26 1.00 - 9.75 1.82
3 - 70.29 1.00 - 10.33 1.93
1453-3




11111

11111




199

50

25

1453-4

1:1,000

/)

100kN/




R

50

25

1453-4

(//

[ |1:1,000
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100kN/m? 100kN/m?
kN/m? kN/m? m kN/m? kN/m? m kN/m? kN/m? kN/m? m kN/m?
1 2 - 100.00 1.00 - - 3.00
2 3 - 7152 1.00 - 10.79 2.02
3 4 - 70.88 1.00 - 9.88 1.85
4 5 - 85.02 1.00 - 8.32 1.55
5 6 - 75.35 1.00 - 8.40 157
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